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Note

Bkl
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SOCIAL WORK

Paper II

AHTSTRT
goaIent 11

Time Allowed : 75 Minutes]
: This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt A/l questions.

LI ~
Td YT I Gredl.

: I YTAUCIehd TRUT USTE (50) SgUdiEl Y 3TRd. Yk WYl | (2) T 3T

Integrated Social Work refers to the
use of .............. approach in the
practice of Social Work.

(A) Combination
(B) Holistic
(C) Ecological

(D) System

Assertion (A) : Utilitarianism has

been criticized for creating a world

of possessive individualism.

Reason (R) : Because social values

were considered secondary to the

creation and satisfaction of wants.

Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

ThifcHer THST h1d U

gftesh A=l TS A ST B

(A) TEHATHI
(B) TEEHERTSR
(OIRRIEIUIELERED

(D) ST

faeam (A) : STgFAERE  SHAfRTEE]

HICTeh! STEcTel STel I oM &g U

SenT FTeledl 3Te.

®IUT (R) : TSt fAfdd errfor

THYEAT ded A GeaH $2m

M AHTA ST

Hehdiah :

(A) (A) 27T (R) €l slsR 31 (R)
T (A) o IgFH TER T

(B) (A) 3 (R) St s 37ied T,
(R) T (A) ¥ 3T TILEHRI o8

(C) (A) & e 318 W (R) IF 3

(D) (A) I AR WY (R) TR AR
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(a)

(b)

(o

(d)

The concept of ‘Deserving and non-

deserving’ was coined by :
(A) Darwin

(B) Malcom

(C) Karl Marx

(D) Newton

Match the following and choose
correct answer from codes given

below :

List I List II
Rabindranath (i) Sevagram
Tagore

Raja Ram (i1) Arya Samaj
Mohan Roy

Dayanand (i11) Brahmo Samaj
Saraswati

Mahatma (iv) Shantiniketan
Gandhi

Codes

A) (a)—(D), (b)—(ii), (o)—(iv),

(d)—(11)

(a)—(iD), (b)—(1), (e)—(iID),
(d—(1v)

(a)—(iv), (b)—(i1D), (e)—(11),
(d—()

(a)—(1), (b)—(iD, (o)—(iv),
(d)—(iil)

(B)

(®)

(D)

(a)
02)
(0
(d)

JAN - 20218/I1—A
‘a efor e’ € Wehew eIl
ArEat ?
(A) =Tfed
(B) HIchH
(C) wrel e
(D) =T
SiredT e S0 Welt feeredn Hehdiehi

g W e .

RICN T 11
Tose TR () SEwm
TS AR W (1) 3 S
TAMS LG (7)) ST IS
TgTeHT et SR UCIMEETE
Hahdich :
(A) (a)—(D), (b)—(iiD), (c)—(iv),

(d)—(11)

(B) (a)—(iD), (b)—(1), (e)—(iI)),
(d—(1v)
(C) (a)—(iv), (b)—(i1D), (c)—(iD),

(d—()
D) (a)—(1),

(d)—(iil)

(b)—(iD, (o)—(iv),




................. is one of the techniques to
develop sensitivity about class, caste

and gender inequalities.
(A) Power dynamics
(B) Transect walk

(C) Power walk

(D) Power analysis

‘Social and Cultural Mobility’ book

was written by :
(A) Sorokin

(B) Weber

(C) Amartya Sen
(D) Auguste Comte

According to Weber, the three types

of leadership are :

(A) Charismatic, traditional,

rational

(B) Charismatic, institutionalist,

specialist

(C) Charismatic, controller,

organizer

(D) Specialist, controller, organizer

JAN - 20218/11—A
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LERKRS

(A) & Tifceht

(B) foem &

(C) &1

(D) & fogetso
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N T NI

s A ot
(A) HXifeR

(B) o

(C) 39 ¥

(D) AT i
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(B) dordifehd, TEAHS, foRTSas e
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10.

According to functionalist pers-
pective of sociology, each aspect of
society is :

(A) Complementary
(B) Co-exist

(C) Independent
(D) Interdependent

The aim of new economic policy in
India is :
(a) Reduce inflation

(b) Encourage foreign direct

investment

(e0 Achieve
growth

higher economic

(d) Enhance inflation and tax rates
Codes

A) (a), (o

B) (o

C) (a)

D) (a), (b), (0

Which of the following is not allowed
under the Right to Freedom of

Religion enshrined in the

Constitution of India ?
(A) Right to preach
(B) Right to practice
(C) Right to convert
(D) Right to propagate

10.
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AT STAICHeRAG] § SZhATTHR

ST Yo U] T
(A) TG

(B) Heafkic

(C) e

(D) TEEST

qRAT e[ ST iR 389

(2) YEEE ST HL0]
(b) WA WhT T[T YicdTe <ol

(o) TR I STaaq € YT hivl

(d) 9EdE g EUd d@ hiv]
TUr

(A) (a), (o

(B) (0

C) (@

D) (a), (b, (o
YR WIS shed Seloiedl eifHes

AT BITeATeAUshl HIMAT G
T o ?

(A) THige=ET AfRR

(B) YA AU HI0IAET SR

(C) wHiaRur sHIvaren fEhR
(D) YA FER HoaE TR




11. Ammendments in laws related to

12.

safety of women at work place

are :

(A) Macro level interventions

(B) Mesolevel interventions

(C) Crisis intervention

(D) Micro level intervention

In couple counselling both the

husband and wife are counselled,

the clinical practice involves ...........

level intervention.

(A) Primary

(B) Family

(C) Relationship

(D) Micro

11.

12.
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e fowoft fommen gRiamade

(A) Heh! TEe ST Ed

(B) e wEdial StiaRf-Re

(C) 3TU=T ST

(D) HEh! WU ST

SHIRT WYY Ut & UeH QrereRd

THIRYA el S, 3TN fafshe st

(A) TufHe
(B) whieferh
(C) T

(D) g&
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13. Which of the following is/are not | 13. WIciicideh! ShHIOT/RIOTET TEFIT TSl

learning method ? qEa ?
(a) Insight (a) Sl
(b) Observation (b) Treqor
(0 Modelling (0 STRRI TR
(d) Trial and error (d) 93 YHIQ
Codes Hehdich :
(A) All are learning methods (A) g ST Ugdl ARd
(B) (o) is not a learning method (B) (¢) B AT TGl ARl
(C) (b) is not a learning method (C) (b) T AATATE THdl ARl
(D) (b) and (¢) are not learning (D) (b) 3 (¢) AT ATIA=AT TGt
methods B
14. Which term among the following | 14. dTUIE FHAYY HHER STUARI TEALITHS
refers to physical and psychological AU IR 9 qFlas 9T S
exhaustion caused by inability to AT ?
cope with stress ?
. (A) 3Tl
(A) Crisis
(B) Burn out B)
(C) Frustration (C) fordreren
(D) Insomnia (D) ST
15, ereennnn spelt out the tasks of | 15. fasmm=n zvA=it & ®IOT AT ?
developmental stages. .
(A) WIEE
(A) Freud
B) UfaEmey glelsh
(B) Elizabeth Hurlock ®)
(C) Havighurst (C) &fermee
(D) Skinner D) &R




16.

17.

Which of the following is a task-
oriented community work approach
identified by Jack Rothman ?

(A) Welfare Model

(B) Locality Development Model
(C) Developmental Model

(D) Selling model

The

functioning in

principle of democratic
community
organisation is based on the belief

that :

(a) There is a tendency among
common people to remain
passive and allow others to take

decisions on their behalf

(b) The organisation should be kept
flexible to accommodate people

(00 Human beings
difficult to handle

are more

(d) The worker should not impose

his/her ideas on people
Codes

(A) (a), (b)

(B) (a), (b), (o)

(C) (a), (d)

D) (b), (d)
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16. WICiclish! Sfeh AL I HEaHE

17.

S TSNS Glehemegl d ¢

I FESAER TR 3T

(a) I AOHHT TSR g =Adh
SR o0 U =mEr ol et

(b) HEISA AR TG TR T

R2IE]

(¢) W Bdeetl ®R holvl 378

(d) ke A/ hedl
TRER. @G, T

Hehdich :

(A) (a), (b)

(B) (a), (b), (0

©) (a), (d

D) ), (d)
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18.

19.

The use of the term ‘Community

work” was popularised by :

(A) Gulbenkian Report

(B) Dennis Report

(C) Budock Report

(D) Robert Park Report

‘Veganism’ which believes in not
utilising any animal products in
their diet or lifestyle, is fast
becoming a movement today. In
which of the following type would

you classify it ?

(A) Revolutionary movement

(B) Revivalist movement

(C) Subaltern movement

(D) Alternative movement

18.

19.

JAN - 20218/II—A
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¢ () hd hila N
HHQIH onlH B HehoUdl AT ARy

el

(A) TASFRIIT 3TEaTA
(B) ef¥ 3T
(C) dsfeh TedT

(D) TS gk 27T

(aV

‘omfEE WS IO AR shalall

IR STAN ARG 3l e

F-h01, AU g Th FBdes el TR

ITAT qFEI HITAI TR AT R

A ?

(A) HIfdrl Tdes

(B) gAESSior Hesdcs
(C) TearTediel Tesdad

(D) 9IT Tdes
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20.

21.

Which Indian Social Scientist coined
the phase “non-party political
formation” for autonomous people’s

organisation ?

(A) Ghanshyam Shah

(B) Dipankar Gupta

(C) M.N. Srinivas

(D) Rajni Kothari

Which of the following is not a
reason for the use of ice breaker

exercise in a group ?

(A) Members introduce themselves

(B) Members become acquainted

with one another

()

Facilitate communication

(D) Members decide if they wish to
be members of the group or

not

20.

21.
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clleRTeal TR FeeAdel qar-fRrem
TeAfas @A @ deherr &Il
Areell ?

(A) =9I IR

(B) fewiert T

(C) .. #ifemd

(D) TSI it

eAeTieh! IO o1& & MY 3EE
SR TRETES] ' ST SO il
T ?
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(B) ¥eH UskHehe gRfad i
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22. A visually impaired group member

23.

wanted to leave the educational
group as she could not follow the
discussion based on charts and

diagrams.

Which principle of group-work was

not followed by the group worker ?
(A) Guided group interaction

(B) Flexible functional organisation
(C) Continuous individualisation
(D) Controlled group interaction

The process whereby individuals or
groups are held responsible for
making their own decision is known

as :
(A) Autonomy
(B) Empowerment
(C) Team building

(D) Multitasking

22.

23.

JAN - 20218/II—A

TR TS e UeW STeell Uah

feaam (gfed) qertt faen @ fowmof
IR FUMR TR AT 3Thean a7
3TREH B THCAHe HeX Te 9Ig sfwad

BIdl. dogl ATfGhRTUN TehHhcaihed

TTeiTel H3edl Teehareal Tl ST

el FTegdl ?

(A) wafeifd ToE- st
(B) e ofaiish v
(C) Hraeaqul SfeRash¥om

(D) frafra Te-stafsma

= wfohdtes SN omfor W ¥
TS Sderean g SeeeR eRva

Iara o gfRAr BUS
(A) =l

(B) Heleilshtn

(C) TeffHd

(D) 3Ry H
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24. What

25.

purpose does process
recording serve ? Write the incorrect

answer :

(A) These are useful as teaching
learning tools

(B) It assumes appropriate follow-
up in case the student is not

available in times of crisis

(C) The student learns about her
own feelings and behaviour in

her interaction with clients

If the client has malafied
intention, police

D)
can be
informed.
Assertion (A) : Group memebrs can
learn that they are worthy of love
and caring, and that people will
treat them differently from how they
were previously treated.
Reason (R) : Group becomes the
context through which members
deal the painful experiences they
had as members of their families of
origin.
Codes :
(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)
Both (A) and (R) are true but
(R) i the
explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(®)
(D)

JAN - 20218/II—A

24. ‘WfRan ARG, @Il IO & A

25.

Fa[ 2 fooen w@EmEyT 9% IW

IREEIIE

(A) Tt q&= Rkl a1 gfshaa @
SR STed

(B) W= RfEdia smfre 3dersy
THA T R AIGT FE GG
Ut EATd

(C) Tereromy wHTSIeREen faeneff wmen
ST SRfRA o =
WIS qT areerd  ferehdl

(D) SR TR §q dRe 3¥d ™
fera T Hesfaea S STk

faam (A) : SEHEE™Y d JHE qe

T SANHT STess DU U 3TRd &

STofte 3, ST T8 e i et geq

FTBATYHRRE! aFTIeh didl & Qe

Softe .

HROT (R) : TENa ST =

& g™ T STl 5 RGeS

YT 3 3Aed o foeoar=n

T Toh HEAH Sl

Hehdiah :

(A) (A) 27T (R) €l slsR 31 (R)
T (A) T ITH TR T

(B) (A) =71 (R) SI=T sR&X 3T W
(R) B (A) ¥ 3T TIRIHRIU o8

(C) (A) TR 3R WY (R) =k MR

(D) (A) TF 3¢ g (R) s 378
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26.

27.

28.

‘Focus group discussion’ is generally

used in research.

(A) Qualitative
(B) Quantitative
(C) Quasi-experimental

(D) Quasi-survey

In one of the research studies a
researcher disclosed the identity of
the respondents, inspite of non-
disclosure commitment, it is a
violation of which of the following

ethical principles ?
(A) Integrity

(B) Transparency
(C) Beneficence

(D) Assurance of anonymity

‘I believe nothing until I see it with
my own eyes’—In research it is
.............. statement.
(A) Assumption
(B) Hypothesis
(C) Empiricist

(D) Rational

26.

27.

28.

JAN - 20218/II—A

‘¥qE afsa ==t 1 wEEERerg
ENIEEIRICERITIRH

STOTdTd.

(A) TUTcHR

(B) T&ATHSE

(C) TH-WANTHR
(D) STe-Fe&u

ThT TINEATT GINEThed ™ 2o HeeH
FOTE ATfYeTeht  STHAMT  STRGTCTH
st SUE hell, TATC Wil
FHIvE Afdh oA Seered WUl ?

(A) grHTfOTeRTOT
(B) UR&iehdl
(C) WRIIHR

(D) STTHeRce B

‘W IR MR favarg dod ATel
Sid H T : e Sl o ARl —
HINeA AT
(A) ‘16: GE
(B) TEIdH
(©) AIHIUTHTTT
(D) IhETd
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29.

Assertion (A) :It is possible to
refute or disprove theory.

Reason (R)
irrefutable.
Codes

(A) Both (A) and (R) are true and

: Theory is always

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) the
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

is not correct

29.

JAN - 20218/II—A

faeam (A) : T9sa I 3TE. TR
NS Yehdld.

&R (R) : fagm Ted= e

SHAId.

Hehdiah :

(A) (A) 2T (R) St seR S1ed 301
(R) T (A) T T TIRH TR

(B) (A) =7fo1 (R) S=1 slIsR 3TTed Wy
(R) T (A) & 3Tk TIRIHIU AR

(C) (A) § sk 38 Wg (R) § IH
e

D) (A) & I 31 g (R) & SR 3R

30. Chi-square (x2) TS 30, FI-TIR (XQ) U
(A) Parametric test (A) THeE ==
(B) Validity test (B) Juar =m=i
(C) Reliability test (C) fowargHaar =il
(D) Non-parametric test (D) AA-TTEds ==
31. Secular ideologies deals with : 31. Tendt qaeg Ereieiist HIMe Tefd
(A) Belief and explanations that e ?
legitimate a scoial structure (A) awr[ TG STV TTLIHI T HHISTh
LA =rAifed Sedrd
(B) Purpose of life and death o .
(B) AT SEATET SETOIT-AITITT 391
(C) Social inequalities (C) s SR
(D) Superstitions (D) e
15 [P.T.O.



32.

33.

34.

Child-line is helpline
(A) for all children

(B) only for school children

(C) only for orphan children

(D) only for child in conflict with

law

Three classic models for group

practice are

(A) Social goals, reciprocal and
remedial

(B) Therapeutic, reciprocal and
remedial

(C) Remedial, residual and
advance

(D) Remedial, social goals, team

Mary Richmond’s ‘Social Diagnosis’
can be considered as the first book

of :

(A) Social group work

(B) Social and preventive medicine
(C) Social case work

(D) Community organisation

32.

33.

34.

JAN - 20218/II—A

S S

(A) |d HAHE!

(B) e ¥Ierd HeTdra!

(C) wal 3TY HaAMIC!

(D) ek Taeht Feeg qae]

qEhEE T FAhe UTEd

(A) |MES® 39, qREaE i
ERIRIED

(B) SUENIcHeR, TRETLeh 0T SUETHE

(C) UM, AR A0 et

(D) 3UTATcHe:, HTHTSIR €49 rfor
=

70 femed ‘gmise e’ mEn

ECATeTieh! SheTeTead Jigel J&ieh WU

foaR el S ehal 2

(A) e HHgeh

(B) gHIfster den gfqsiecaes deeh

(C) HHIfSIeh AfFaTe™ w1l

(D) §HEE &M
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35. Hallucination is a common | 35. JeIaiden! IV STRTATAT SEd HTE
occurrence in clients with : B0 B Th IR TS TT 3T 2
(A) Substance abuse (A) 3Tl Yg1e Had oA
(B) Depression (B) sterdReud (fer=ar)

(C) Regression (C) TATHA afed
(D) Phobia (D) WU

36. Public Corporations have been | 36. WEw® Wemeere fHdt Jeerisht
created with the objective of : I SR HUAT A A ?
(a) To increase profits R

(a) %1 dAEIATITHIS
(b) Operational flexibility and
(b) TS Sareehdl ST WERAHTS!
autonomy
(o0 Creating various job (o fafes Tsmmrean weft fafo e
opportunities (d) TS Yehed TTeavaTeh (il
(d) Handling large scale projects e .
Hehdich :
Codes
A) (a)
A) (a)
(B) (b), (o), (d)
(B) (b), (0, (d)
D) (o), (d (D) (o), (d
17 [P.T.O.
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37. The Indian Constitution states that .
37. YRG AOEMTER ¥e AR SHREEEHR

all citizens are equal before law,
citizens have freedom of speech and
expression, and citizens have
freedom of association and peaceful

assembly.
Select the correct answer :

(A) All the above are Directive
Principles of State Policy
Indian

outlined in the

Constitution

(B) Some of these are Directive
Principles of State Policy
the

outlined in Indian

Constitution

(C) None of these are Directive
Principles of State Policy
Indian

outlined in the

Constitution

(D) These rights are not mentioned

in the Indian Constitution

T TR, AT AT, STf\ezeRt for
Tefed goAre W= a9 Sdargol qrET

STHI BT T 8. Wetel TaiameH

Ik I e

(A) Td §6 R TsAmEReAd TR

Helell ToaTe AN awd 2Ted

(B) AMeh! gl WRAE ToTEH TG

(al

il

TSI /MYl awd 37Ted

(C) AUt 3= ARG ToF&eq

forgTe Shololl TsAT=l ANCSieh <

TeRd

(D) & AfYUhR WRAE TsTeeAd 98

THelal e
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38. Social protection does not include : | 38. ‘ISR ERaOT A Eeferien] sheme
4o 7
(A) Core for vulnerable groups e o T
(B) Doling out alms (A) ergufer et Fet
(C) Providing food subsidies (B) faem <ot
(D) Providing benefits to (C) ST-STgH
unemployed (D) SRSTIREAT &MY gl
39. The first to introduce the term | 39. Treiierdenl ol dfgeargr =~ i
“Collective bargaining” : Heheqdl HiSdl ?
(A) Robert Merton (A) T WA
(B) Sidney and Beatrice Webb (B) Taeq enfur fodig a4
(C) Amartya Sen (C) s\ ¥
(D) John Keynes (D) S &Y
40. Assertion (A) : Higher education 40. faam (A) : =17 7o s/fer =1 SeH®
sector in India is third largest after ‘Sog e’ § YRaMed waia Jie &
China and United States. Yet the 2. Wq afd @mea sofien w1
weaknesses outweigh the strengths. S A e .
peer 0 1 D | - s e
allocation is responsible for lowering
the quality of education imported in far TSt e eroare sl enfees
India TS STAEER 3118,
Codes Gehdich :
(A) Both (A) and (R) are true and (A) (A) 3T (R) St SRR o197 (R)
(R) is the correct explanation of T (A) A ITF TEE IR
& (B) T = 3R
(B) Both are false ) Bt o s i () ()
(C) Both are true but (R) is not (©) ==l ®|{|c:|\{ SMed WG (R) © (A)
correct explanation of (A) oI TSR Y
(D) (A) is true but (R) is false (D) (A) TR 3T Rg (R) IF T
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41.

42.

43.

Corporate social responsibility is

(A) ‘Corporate Citizenship’
(B) Corporate Policy

(C) Company’s responsibility

towards employees
(D) Corporate charity

Which of the following is not a
patient’s right ?

(A) Right to equal access to
treatment

(B) Right to euthanasia

(C) Right to second opinion
regarding treatment

(D) Right to give informed consent

‘Habeas Corpus’ means :

(A)

The accused be provided free

legal aid

(B) The under-trial be released

(C) The prisoner be presented

before the judge

(D)

The prisoner be allowed to meet

his lawyer

JAN - 20218/II—A

41, TN 9HISeR < BUS :

42.

(A) I AR

(B) I €R0T

(C) HHITAYA 27T SN <1

(D) T Do THEH

ETATAURT I AIRR BT S0

AR IR ?

(A) STAREST THHE Gy

(B) <Im™m

(C) SU=RIETed gH-aM< Hd B0l

(D) JeEHd JuaTEl SAfHeR

(B) GG STaid STl SR Wi
(C) Hamd —EIRRIEHR SR 0

(D) $UME =TT dfhar™d  ITugrE

a0
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44. As per the Sexual Harassment of | 44. Hfgci=n ™A1 fahmon B iR S
Women at Work Place (Prevention, (wfqeier, wssma snfor femon) stfufem
Prohibition and Redressal) Act, 2013 YHO TCfierish! HIoTdl o
2013, which of the following is not T hiod & ?

a duty of the employer ? (A) s fowTon [Ifard  Srara
(A) Provide a safe working R

environment (B) fTeh DeoldIS! hIF=M GiiTdeied]
B) Disol o formats SHIIH TS STHOTA1 SEHLEL. i
(B) Display permanently formation e 3 At S el

of ICC and penal consequences TS feade aTen T @En

of sexual harassment - N N

(C) dPRIR HARAH PEAQAATE HId

(C) Provide a lawyer to the H@pﬁ

complainant (D) wF¥=E  dw  smE.EELEn
(D) Organize workshops and TSR AT A=Y SToie ST

awareness programmes for IO SIS SR qe S

employees and ICC members STl HIFHAME SIS HI0

45. As per the Juvenile Justice (Care | 45. STd = (SR Flcdst SO TIETO)
and Protection of Children) Act, Afuf=m, 2015 TR WreAterie! Hiow
2015, which of the following orders 9 @ S TR N
cannot be passed regarding

?
juvenile ? RN
(A) Direct the juvenile to (A) 998 HHUSYFME ST =R
participate in group counselling TN 2rogmn fqeer <o
(B) Order the juvenile to perform (B) WWWWWW
community service
(C) Send the juvenile to prison (C) Sef TS SRR
(D) Order the parent of the juvenile (D) S T=IRIEAT Greiehi=1 G SR
to pay fine [Ty
21 [P.T.O.



46.

47.

48.

GDP growth is the indicator of :
(A) Socio-economic development
(B) Economic development

(C) Market index

(D) Global Economic Index

The Jan Dhan Scheme is part of the
Government plan to provide :

(A)

Micro-credit to rural women

(B) Loans to farmers

(C) Banking facilities to the poor
and encourage savings

(D) Funds to entrepreneurs for

initiating small scale business

The global agenda for social
development for the period of 2012-
2016 is :

(1)

Promoting social and economic
equalities

(i7) Promoting the dignity and
worth of peoples

(zz1) Working towards environ-
mental sustainability

(iv) Strengthening recognition of
the importance of human
relationships

Choose the correct answer :
(A) (1) only

(B) (1) and (i) only

(C) (1), (1) and (7i1) only
(D) (1), (10, (d11) and (iv)

46.

47.

48.

JAN - 20218/II—A

SEL . weie 9 § e FeveR
A ?

(A) grTfSTeh-3nfiies faend

(B) eTfYer fasm

(C) weRUs fadenen

(D) wIMfaer Adfegeen fademes

SHEA AN W HaSEEl T

HIME AW AR 2

(A) T AfGAT T JAYLEST

(B) IAH=AM HeIgLaal

(C) T sk Gferenm gy 3mfor s
FUIE Hieded <01

(D) <~ G& HIAHS SeTSiehdl
et qfam

{9 2012-2016 31 FHIcTEERE! A

EEILIEIRSIRIGERCIRE X ALk

Rd ?
(1)

graTferes erfor errfefes gHTAT
T OIS BIAYR ATl

(7)) RTIT F=qA  ATfOT  FTHan
ATETTITES BIAWR ATl

(f71) QMY PRICTUIE) faoM s &

(iv) AFETEeHE Haw A & o Fete

EXu
areen T e
(A) (1) T
(B) () 31T (iz) e
(C) (3, (i) 30f0 (i) e
(D) (1), (&), () 3T ()
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49. Identify the Sustainable Develop- 49 2030 T Fc & e
ment Goals, 2030 from the 7 9
following : .
A) T e
(A) No poverty (&)
(B) Decent work B) *
(C) Life below water (C) et SE
(D) All of the above (D) =
50. Assertion (A) :The Indian Consti- | 50. fa&rm (A) : #fean, Toi 7for wmIH,
tution empowers the state to make Harf S = —
special efforts for women and
children and for advancement of ST FoRTH FoIe FHT0AT XA Tt
socially and educationally backward TSI SR faoel 3.
1 X ; : ?
classes ®) : -
Reason (R) : All round national
development is not possible without T S TSRS SOTeHTRTeT
bringing women and other backward T T faerd B0 I B0
classes on par with the rest of the Y
community. ’
Codes LETICTE
(A) Both (A) and (R) are true and (A) (A) 3707 (R) St sITeR 3Ted i
Ei; is the correct explanation of B E A T S S
(B) Both (A) and (R) true but (R) (B) (A) foT (R) ST SIsR 37Meq WY
is not the correct explanation of (R) ® (A) A 3T TSRO TR
(A) .
(C) (A) & TR (R) e
(C) (A) is true but (R) is false g o=
(D) (A) is false but (R) is true (D) (A) & & WY (R) SR 37
23 [P.T.O.
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